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Anfangsauslenkung:y, =0,6cm

Periodendauer: Tp =5,0000,s

Kreisfrequenz: op = 2n _ ],2566E
Tp S
Abklingkoeffizient 5 = — 1 - 2=0CM _go5512
1-Tp 5,0000s S
0 2521}
Déampfungsgrad D = i;o)O = \/co% +8% = 128161;D = —i = 0,19671
@0 S 12816° S
S

Nullphasenwinkel ¢

Amplitudenfaktor y,,
(1) y(0) =Ym €~ -cos(apt + o)

(2) Y(t) =~y 8-~ -cos(apt +dg) ~ Ym0 - € -sin(opt +dg)

Anfangsbedingungen
y(0)=0,6cm

y(0)=0"
S

(1) ¥(0)=ym-cos(¢o)

__y(@©)
cos(¢p)

(2) ¥(0)=0=-yn-5-c08(¢g)~Ym - @p -SiN(¢p)

Ym

0 =y (8-cos($g)+ oy -Sin(dy))
0=3-cos(¢g)+ op - Sin(g)

_ & _sin(¢o) _
oy  ©0S(¢o)

tan(¢o)

dp = arctan(_i) =-0,1942 rad
®p
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Eingesetzt in (1)
0,6cm

__0bem __,61150m
Ym = Cos(-01942)
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